Multiplicér decimaler med ti

4,005 x 100 =

6,213 x 100 =

9,134 x 100 =

5,931 x 100 =

2,803 x 10 =

9,221 x 1000000 =

6, 541 x 100000 =

Dato: Score:

5,424 x 1000 =

8, 046 x 10000 =

1,037 x 10 =

6, 177 x 1000 =

9, 848 x 10000 =

10, 395 x 100000 =

2,847 x 100 =

2,584 x 100 =

2,139 x 1000000 =

9,426 x 100000 =

2,781 x 10 =

10, 409 x 1000000 =

7,09 x 10000 =
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Multiplicér decimaler med ti

4,005 % 100 = 400.5

6,213 x 100 = 621.3

9,134 x100 =913.4

5,931 x 100 = 593.1

2,803 x 10 = 28.03

9,221 x 1000000 = 9221000

6, 541 x 100000 = 654100

2,847 x 100 = 284.7

2,584 x 100 = 258.4

2, 139 x 1000000 = 2139000

Dato: Score:

5,424 x 1000 = 5424

8, 046 x 10000 = 80460

1,037 x 10 = 10.37

6, 177 x 1000 = 6177

9, 848 x 10000 = 98430

10, 395 x 100000 = 1039500

9,426 x 100000 = 942600

2,781 x 10 =27.81

10, 409 x 1000000 = 10409000

7,09 x 10000 = 70900
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